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EDUCATION
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FOURTH PAPER

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks

for the questions

Answer eight questions, taking two from each Unit

Candidates are required to give their answers

in their own words as far as practicable

UNIT—I

1. What are the services come under the

program of Integrated Child Development

Service (ICDS)? Who are the beneficiaries of

ICDS program? What are the purposes of

initiation of ICDS program in India? 4+3+3=10

2. What are the objectives of Indian Council for

Child Welfare (ICCW)? Briefly discuss about

the activities of ICCW. 4+6=10
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3. Write short notes on the following : 5+5=10

(a) Anganwadi centre

(b) Creches and daycare centre

UNIT—II

4. Discuss the roles of UGC and ICSSR in
higher education. 5+5=10

5. What is meant by privatization of higher
education? How is privatization helpful for
improving quality of higher education? 3+7=10

6. What is quality in higher education? Discuss
the issues and challenges of quality in higher 
education. How can we improve the quality of 
higher education? 2+4+4=10

UNIT—III

7. What is meant by value-oriented education?
Briefly explain the method of inculcating
value among students in educational
institution. 2+8=10

8. Mention the different causes of
unemployment. Discuss the measures to
resolve problems of unemployment and
alternative arrangement of employment
generation in brief. 4+3+3=10
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9. What is meant by student unrest? Discuss

the causes of student unrest in India. What

are the steps to be taken to reduce student

unrest in India? 2+5+3=10

UNIT—IV

10. State the broad objectives of population

education. What should be the contents of

population education? 5+5=10

11. Briefly discuss the status of women

education in India. Why is women

empowerment necessary in society? 5+5=10

12. Define teacher education. Explain the

problems of teacher education in India. How

can these problems be solved? 2+4+4=10
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